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mET# Al 32T AT RERE (5 16[A]) — B[S XKEBE~—X]

(B {EM, %)
LABAE(I0F13ERME) (A) |  RMARHHEGRHEEERD (B XATFTEER(C) N £ @
hHET41 %
hiErst | B &t T ET 44 IR &t hiErdf | B 5 hiErd | & hErdf | & &t

(=] 0.3 0.3 0.3 0.3 0.3 0.3 100.0 100.0 100.0 100.0
BE™ 178.7 26.2 204.8 170.3 26.2 196.4] 170.3 26.2 196.4 95.3| 100.0 959| 100.0 100.0 100.0
SALAT™ 3.9 9.6 135 1.6 9.6 11.3 1.6 9.6 11.3 42.2|  100.0 83.3] 100.0 100.0 100.0
& B 26.2 6.6 32.8 26.2 6.6 32.8 26.2 6.6 32.8) 100.0/ 100.0 100.0[ 100.0; 100.0 100.0
ZEE™ 23.8 23.8 23.8 23.8 23.8 23.8] 100.0 100.0[f 100.0 100.0
y=prakif] 0.1 9.4 9.5 0.1 9.4 9.5 0.1 9.4 95| 100.0 100.0 100.0{ 100.0/ 100.0 100.0
CXIN=Tii] 241 15.0 39.1 15.0 15.0 15.0 15.0 100.0 38.4 100.0 100.0
K 0.4 0.4 0.4 0.4 0.4 04| 1000 100.0[ 100.0 100.0
B IEAT 20.4 20.4 15.3 15.3 15.3 15.3 75.0 75.0 100.0 100.0
LI STHT 1.6 65.9 67.4 1.5 65.9 67.3 1.5 65.9 67.3 95.3| 100.0 99.9 100.0 100.0 100.0
N=Ti) 1.2 37.2 38.3 2.5 10.1 12.6 2.5 10.1 12.6] 2173 27.1 32.8) 100.0| 100.0 100.0
T4l 2.7 2.7 2.7 2.7 2.7 2.7 100.0 100.0 100.0 100.0
| 7 HT 0.4 0.4 0.4 0.4 0.4 04| 1000 100.0[ 100.0 100.0
%z J 1| ET 66.1 66.1 65.1 65.1 65.1 65.1 98.5 98.5| 100.0 100.0
g = BEMT 18.8 12.0 30.8 18.8 11.0 29.8 18.8 11.0 29.8] 100.0 91.6 96.7] 100.0 100.0 100.0
BEt 3452  205.1 550.3 310.8 171.9 482.6] 3108/ 171.9 482.6 90.0 83.8 87.7) 100.0 100.0 100.0
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mET# Al 32T AT RERE (5 16[A]) — B[S XKEBE~—X]

(B {EM, %)
LABAE(I0F13ERME) (A) |  RMARHHEGRHEEERD (B XATFTEER(C) ==
GilERE ' (C).” (A) (C).” (B)
hiErst | B &t T ET 44 1= &t hiErdf | B hiErd | & hErdf | & &t
=]
BE™ 9.8 0.7 10.5 6.0 0.7 6.6 6.0 0.7 6.6 60.8| 100.0 63.3] 100.0 100.0 100.0
SALAT™ 1.2 6.8 8.0 1.2 6.8 8.0 1.2 6.8 8.00 100.0| 100.0 100.0[ 100.0/ 100.0 100.0
& B
ZE W
y=prakif] 0.2 0.2 0.2 0.2 0.2 0.2 100.0 100.0 100.0 100.0
CXIN=Tii]
K 0.0 0.0 0.0 0.0 0.0 00/ 100.0 100.0[ 100.0 100.0
B IEHET
LI STHT 1.6 37.4 39.0 1.5 37.4 38.9 1.5 37.4 38.9 95.3| 100.0 99.8| 100.0 100.0 100.0
N 1.3 1.3 1.4 1.3 2.7 1.4 1.3 2.7 100.0 203.7] 100.0 100.0 100.0
T4 EHT
| 7 HT 0.1 0.1 0.1 0.1 0.1 0.1] 100.0 100.0[ 100.0 100.0
%z J 1| ET 7.9 7.9 6.4 6.4 6.4 6.4 80.7 80.7) 100.0 100.0
g = BEMT 11.2 7.9 19.1 11.2 7.9 19.1 11.2 7.9 19.1] 100.0/ 100.0 100.0[ 100.0/ 100.0 100.0
a&T 31.8 54.2 86.1 27.8 54.2 82.0 27.8 54.2 82.0 87.2| 100.0 95.3] 100.0, 100.0 100.0
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[H29]

mET# Al 32T AT RERE (5 16[A]) — B[S XKEBE~—X]

(B {EM, %)
LABAE(I0F13ERME) (A) |  RMARHHEGRHEEERD (B XATFTEER(C) N == @
hHET41 %
hiErst | B &t T ET 44 IR &t hiErdf | B 5 hiErd | & hErdf | & &t

(=] 0.3 0.3 0.3 0.3 0.3 0.3 100.0 100.0 100.0 100.0
a&Eh 168.9 25.5 194.3 164.3 25.5 189.8]  164.3 25.5 189.8 97.3| 100.0 97.7] 100.0 100.0 100.0
SALAT™ 2.7 2.9 5.5 0.4 2.9 3.3 0.4 2.9 3.3 16.2|  100.0 59.2 100.0 100.0 100.0
& B 26.2 6.6 32.8 26.2 6.6 32.8 26.2 6.6 32.8) 100.0/ 100.0 100.0[ 100.0; 100.0 100.0
ZEE™ 23.8 23.8 23.8 23.8 23.8 23.8] 100.0 100.0[f 100.0 100.0
y=prakif] 0.1 9.2 9.3 0.1 9.2 9.3 0.1 9.2 93] 100.0 100.0 100.0{ 100.0/ 100.0 100.0
CXIN=Tii] 241 15.0 39.1 15.0 15.0 15.0 15.0 100.0 38.4 100.0 100.0
K 0.3 0.3 0.3 0.3 0.3 03] 100.0 100.0[ 100.0 100.0
B IEAT 20.4 20.4 15.3 15.3 15.3 15.3 75.0 75.0 100.0 100.0
LI STHT 28 .4 28.4 28.4 28.4 28.4 28.4 100.0 100.0 100.0 100.0
N=Ti) 1.2 35.9 37.0 1.2 8.7 9.9 1.2 8.7 99| 100.0 24 4 26.8) 100.0 100.0 100.0
T4l 2.7 2.7 2.7 2.7 2.7 2.7 100.0 100.0 100.0 100.0
| ¥ ET 0.3 0.3 0.3 0.3 0.3 03] 1000 100.0[ 100.0 100.0
%z J 1| ET 58.2 58.2 58.7 58.7 58.7 58.7] 100.9 100.9]  100.0 100.0
g = BEMT 7.6 4.1 11.7 7.6 3.1 10.7 7.6 3.1 10.7) 100.0 75.6 91.4| 100.0 100.0 100.0
BEt 313.3| 1509 464.2 283.0 117.7 400.7) 2830 117.7 400.7 90.3 78.0 86.3] 100.0| 100.0 100.0
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T ETHT B AT AT REXE (FE16ME]) — B[ {[FER—X]

(BEAL:EH, %)
LABHEORI3ERG (A) | ENBREGRHEISER (B RFTARERISIR) (©) AN Lt S
LIRS E= ’
hiErdf | B &t T ET 44 IR &t miErdf | B &t hiErdf | & hiErdf | & &t

l&ath 0.2 0.2 0.2 0.2 0.2 0.2 100.0 100.0 100.0 100.0
BE™ 148.7 20.3 169.0 142.3 20.3 1625 142.3 20.3 162.5 95.6| 100.0 96.2] 100.0| 100.0 100.0
LA™ 2.9 7.2 10.1 1.2 7.2 8.4 1.2 7.2 8.4 417 100.0 83.3] 100.0, 100.0 100.0
ZEh 19.0 4.9 23.9 19.0 4.9 23.9 19.0 4.9 239 100.0| 100.0 100.0{ 100.0, 100.0 100.0
ZEHE™ 18.5 18.5 18.5 18.5 18.5 18.5] 100.0 100.00 100.0 100.0
=ia 0.1 7.0 7.1 0.1 7.0 7.1 0.1 7.0 7.1 100.0| 100.0 100.0{ 100.0, 100.0 100.0
RIS 21.1 11.3 32.4 11.3 11.3 11.3 11.3 100.0 34.9 100.0 100.0
pN 1] 0.3 0.3 0.3 0.3 0.3 0.3] 100.0 100.0[ 100.0 100.0
B IEHET 15.3 15.3 11.5 11.5 11.5 11.5 75.0 75.0 100.0 100.0
LI STHT 1.2 49.4 50.6 1.1 49.4 50.5 1.1 49.4 50.5 95.3| 100.0 99.9 100.0| 100.0 100.0
YN=Ti) 0.9 27.9 28.9 2.0 7.6 9.6 2.0 7.6 96| 217.3 27.2 33.3] 100.0 100.0 100.0
+ 4 SR HT 2.0 2.0 2.0 2.0 2.0 2.0 100.0 100.0 100.0 100.0
| FFET 0.4 0.4 0.4 0.4 0.4 0.4, 100.0 100.0[ 100.0 100.0
% 1| HT 54.1 54.1 53.4 53.4 53.4 53.4) 986 98.6)] 100.0 100.0
g = BEMT 14.1 9.1 23.2 14.1 8.4 22.5 14.1 8.4 22.5] 100.0 91.5 96.7) 100.0| 100.0 100.0
&5t 281.2| 154.7 436.0 252.3 129.8 382.1] 2523 129.8 382.1 89.7 83.9 87.6] 100.0 100.0 100.0
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[H28]

T ETHT B AT AT REXE (FE16ME]) — B[ {[FER—X]

(B {8, %)
LABHEORI3ERG (A) | ENBREGRHEISER (B RFTARERISIR) (©) AN 2z S
T HT 4T 4 '
mHETAT | R &T T BT AT = it | HETHT | R st | THETAT | R 5 mHETAT | R &T
=t
RN 77 05 8.2 48 0.5 53 48 05 53| 620 1000  643] 1000| 1000] 1000
SALET 09| 51 6.0 0.9 5.1 60 09| 51 60/ 1000/ 1000,  1000| 1000/ 1000]  100.0
22
ZEET
=B 0.1 0.1 0.1 0.1 0.1 0.1 1000 1000 1000 1000
R /N=T7]
NG 0.0 0.0 0.0 00| 00 00| 1000 1000] 100.0 1000
B IEHET
Ly e BT 12| 281 292 1 281 2920 11| 281 292 953 1000| 998 1000 1000| 1000
A B T 1.0 10 1 10 21 11] 10 2.1 1000]  2037) 1000| 1000]  100.0
T/ AxHT
FIRFET 0.1 0.1 0.1 01| o 01| 1000 1000| 100.0 1000
£ 1|7 6.2 6.2 48 48] 48 48] 784 784 1000 1000
H = BT 84| 60 144 8.4 60| 144 84 60 144 1000| 1000|  1000] 1000| 100.0]  100.0
&t 245 409 653  212]  409]  621| 212 409 621 868 1000  950| 1000/ 1000]  100.0
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[H29]

T ETHT B AT AT REXE (FE16ME]) — B[ {[FER—X]

(BEAL:EH, %)
LABHEORI3ERG (A) | ENBREGRHEISER (B RFTARERISIR) (©) AN Lt S
LIRS E= ’
hiErdf | B &t T ET 44 IR &t miErdf | B &t hiErdf | & hiErdf | & &t

l&ath 0.2 0.2 0.2 0.2 0.2 0.2 100.0 100.0 100.0 100.0
BE™ 141.0 19.8 160.8 1375 19.8 157.2] 1375 19.8 157.2 97.5| 100.0 97.8] 100.0| 100.0 100.0
LA™ 2.0 2.1 4.2 0.3 2.1 2.5 0.3 2.1 2.5 16.4| 100.0 59.3] 100.0/ 100.0 100.0
ZEh 19.0 4.9 23.9 19.0 4.9 23.9 19.0 4.9 239 100.0| 100.0 100.0{ 100.0, 100.0 100.0
ZEHE™ 18.5 18.5 18.5 18.5 18.5 18.5] 100.0 100.00 100.0 100.0
=ia 0.1 6.9 7.0 0.1 6.9 7.0 0.1 6.9 70/ 100.0| 100.0 100.0{ 100.0, 100.0 100.0
RIS 21.1 11.3 32.4 11.3 11.3 11.3 11.3 100.0 34.9 100.0 100.0
pN 1] 0.3 0.3 0.3 0.3 0.3 0.3] 100.0 100.0[ 100.0 100.0
B IEHET 15.3 15.3 11.5 11.5 11.5 11.5 75.0 75.0 100.0 100.0
LI STHT 21.3 21.3 21.3 21.3 21.3 21.3 100.0 100.0 100.0 100.0
YN=Ti) 0.9 26.9 27.8 0.9 6.6 1.5 0.9 6.6 75| 100.0| 244 26.9] 100.0| 100.0 100.0
+ 4 SR HT 2.0 2.0 2.0 2.0 2.0 2.0 100.0 100.0 100.0 100.0
| FFET 0.3 0.3 0.3 0.3 0.3 0.3] 100.0 100.0[ 100.0 100.0
% 1| HT 47.9 47.9 48.5 48.5 48.5 485 101.2 101.2]  100.0 100.0
ma = [EET 5.7 3.1 8.8 5.7 2.3 8.0 5.7 2.3 8.00 100.0 75.1 91.2] 100.0| 100.0 100.0
&5t 256.8| 1138 370.6 231.0 88.9 320.0f, 231.0 88.9 320.0 90.0 78.1 86.3] 100.0/ 100.0 100.0
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